1.63091 Communicated 22 May 1963 by AKE PLEIJEL and LARS GARDING

A generalization of a Tauberian theorem by Pleijel

By Sven Spanne

1. Introduction

In [4], [5] Pleijel proved the following Tauberian theorem. (The factor $|\lambda|^{-h}$ in [4] is here included in the measure $d\sigma$.)

If s < 1, $\sigma(\lambda) \in T^s$, $\sigma(-\lambda) \in T^s$ and

$$\int_{-\infty}^{+\infty} (\lambda + t)^{-1} d\sigma(\lambda) = t^{-1} p(t^{-1}) + o(t^{s-1}), \tag{1}$$

when $t \to \infty$ along all non-real halfrays from the origin, then $\sigma(\lambda) \in I^s$ and $\sigma(-\lambda) \in I^s$. If s is an integer, $I^{-s}(\sigma(\lambda) - (-1)^s \sigma(-\lambda)) \in \omega^0$.

In (1) p is a real polynomial, and the relation $\varphi \in \omega^s$ means that $\varphi(\lambda) = \text{constant} + o(\lambda^s)$ when $\lambda \to +\infty$. I^k is defined by $dI^k \varphi = \lambda^k d\varphi$. If $I^k \varphi \in \omega^{k+s}$ for one value of k, then the same relation is valid for all k = -s and we write $\varphi \in I^s$. When s = 0, $I^s = \omega^s$, but ω^0 is a proper subset of I^0 . The integral in (1) is convergent if and only if $I^{-1} \sigma \in \omega^0$. Finally, $\varphi \in T_+^{\&}(T_-^s)$ means that there is a constant C such that $d\varphi + C\lambda^{s-1} d\lambda$ is ≥ 0 (≤ 0) for sufficiently large positive λ , and $T^s = T_+^s \cup T_-^s$.

In the proof in [4] of the Tauberian theorem, the asymptotic relation (1) is used only along the imaginary halfrays except in two exceptional cases, which occur when s is an integer. In these cases (1) is used for the four halfrays $\arg t = \frac{1}{4}\pi + n \cdot \frac{1}{2}\pi$, n = 0, 1, 2, 3. Thus the conditions in the theorem are unnecessarily strong.

A closer study of the question has shown that it is sufficient to have the asymptotic relation along an arbitrary pair of non-real halfrays which are separated by the imaginary axis. This includes the case when one or both halfrays are purely imaginary. Moreover, the use of a larger Tauberian class than T^s led to a more natural proof of the Tauberian theorem.

We can suppose that the halfrays are the imaginary halfrays. For if (1) is valid along another pair of rays, the relation holds also along the complex conjugate rays as the polynomial p is real. The integral and the polynomial in (1) increase so slowly when $t \to \infty$ that the Phragmén-Lindelöf principle can be used in the angles formed in the upper and in the lower halfplane by the four halfrays. These angles contain the imaginary halfrays.

311

2. Tauberian classes

We use Tauberian classes which are closely connected with the slowly decreasing functions.

Definition. A function φ belongs to the class U_+^s if

$$\lim_{\mu\to 1+0} \lim_{x\to\infty} \inf_{x\leqslant y\leqslant \mu x} x^{-s}(\varphi(y)-\varphi(x))\geqslant 0.$$

We put $U_{-}^{s} = -U_{+}^{s}$, $U_{-}^{s} = U_{+}^{s} \cup U_{-}^{s}$ and $U_{0}^{s} = U_{+}^{s} \cap U_{-}^{s}$.

The class U_+^0 consists of the slowly decreasing functions and the class U_0^0 of the slowly oscillating functions (on the interval $(0, \infty)$).

The classes U_+^s and U_-^s are convex cones, U_0^s is linear and if φ_1 and φ_2 belong to U^s , then either $\varphi_1 + \varphi_2$ or $\varphi_1 - \varphi_2$ belongs to U^s . If $\varphi \in U^s$ and $\psi \in U_0^s$, then $\varphi + \psi$ belongs to U^s .

The classes $T^s_+(T^s_-)$ are included in the classes $U^s_+(U^s_-)$, for take, for instance, $\varphi \in T^s_+$. Then $d\varphi + C\lambda^{s-1}d\lambda \geqslant 0$ for $\lambda \geqslant \lambda_0$, and we may evidently assume that C > 0. Then

$$x^{-s}(\varphi(\lambda)-\varphi(x))\geqslant -Cx^{-s}\int_x^y\lambda^{s-1}d\lambda\geqslant -C\int_1^\mu u^{s-1}du,$$

when $\lambda_0 \le x \le y \le \mu x$. The last integral tends to 0 when $\mu \to 1+0$. We shall need the following properties of the classes U.

Proposition.

- (a) If $\varphi \in U_+^q$, then $I^p \varphi \in U_+^{p+n}$ for $p \ge 0$.
- (b) If $\varphi(\lambda) \in U_+^q$, then $\varphi(\lambda^{\alpha}) \in U_+^{q_{\alpha}}$ for $\alpha > 0$.
- (c) $U_+^p \subset U_+^q$ if $p \leqslant q$.
- (d) $I^q \subset U_0^q$.
- (a), (b) and (c) are valid also for the classes U_{-} .

Proof.

(a) Suppose $\varphi \in U^q_{\tau}$. A simple calculation shows that

$$x^{-p-q}(I^p\varphi(y)-I^p\varphi(x))=x^{-q}(\varphi(y)-\varphi(x))+x^{-p-q}\int_x^y(\varphi(y)-\varphi(\lambda))\,d(\lambda^p).$$

Thus if $x^{-q}(\varphi(y)-\varphi(x)) \ge -c$ for $\lambda_0 \le x \le y \le \mu x$, where $c \ge 0$, then

$$egin{aligned} x^{-p-q}(I^parphi(y)-I^parphi(x))&\geqslant -c+x^{-p-q}\int_x^y-c\lambda^qd(\lambda^p)\ &=-c\left(1+p\int_1^{y/x}u^{p+q-1}du
ight)\geqslant -c\left(1+p\int_1^\mu u^{p+q-1}du
ight), \end{aligned}$$

when $\lambda_0 \le x \le y \le \mu x$. This proves (a).

(b) Suppose $\varphi \in U_+^q$. Evidently

$$x^{-\alpha q}(\varphi(y^{\alpha})-\varphi(x^{\alpha}))=X^{-q}(\varphi(Y)-\varphi(X))\geqslant -c,$$

when $\lambda_0 \leqslant X \leqslant Y \leqslant \mu X$, where $X = x^{\alpha}$, $Y = y^{\alpha}$, that is, when $\lambda_0^{1/\alpha} \leqslant x \leqslant y \leqslant \mu^{1/\alpha} x$, and (b) follows because $\mu \to 1+0$ when $\mu^{1/\alpha} \to 1+0$.

- (c) Obvious.
- (d) If q = 0, then $I^q = \omega^q$, and if $\varphi \in I^q$, then

$$|x^{-q}(\varphi(y) - \varphi(x))| = |(y/x)^q \varphi(y)/y^q - \varphi(x)/x^q| \le ((y/x)^q + 1) o(1) \to 0$$

when $x \to +\infty$ and $x \le y \le \mu x$. Suppose secondly that $\varphi \in I^0$. Then $x^{-1} \int_0^x \lambda \, d\varphi(\lambda) = o(1)$ when $x \to +\infty$. Evidently

$$x^{-1} \int_0^x \lambda \, d\varphi(\lambda) = x^{-1} \left(x \varphi(x) - \int_0^x \varphi(\lambda) \, d\lambda \right)$$

and thus

$$\varphi(x) = x^{-1} \int_0^x \varphi(\lambda) d\lambda + o(1), \text{ when } x \to +\infty.$$

We get

$$\varphi(y) - \varphi(x) = o(1) + y^{-1} \int_0^y \varphi(\lambda) d\lambda - x^{-1} \int_0^x \varphi(\lambda) d\lambda$$

$$= o(1) + y^{-1} \int_x^y \varphi(\lambda) d\lambda + (x/y - 1) x^{-1} \int_0^x \varphi(\lambda) d\lambda$$

$$= o(1) + y^{-1} \int_x^y \varphi(\lambda) d\lambda + (x/y - 1) \varphi(x)$$

$$= o(1) + y^{-1} \int_x^y (\varphi(\lambda) - \varphi(x)) d\lambda,$$

when $x \to +\infty$, $x \le y \le \mu x$. This gives

$$\inf_{x\leqslant y\leqslant \mu x}(\varphi(y)-\varphi(x))\geqslant o(1)+(1-\mu^{-1})\inf_{x\leqslant \lambda\leqslant y\leqslant \mu x}(\varphi(\lambda)-\varphi(x)).$$

Thus

$$\inf_{x \leqslant y \leqslant \mu x} (\varphi(y) - \varphi(x)) \geqslant \mu o(1).$$

The same reasoning gives an upper bound. The result is

$$\lim_{x\to+\infty} \sup_{x\leqslant y\leqslant \mu x} |\varphi(y)-\varphi(x)|=0,$$

which means that φ is slowly oscillating.

s. spanne, A generalization of a Tauberian theorem by Pleijel

3. The unilateral Tauberian theorem

We shall use the following unilateral Tauberian theorem.

Theorem. If $s \le 1$ and $\sigma \in U^s$, then

$$\int_0^\infty (\lambda+t)^{-1} d\sigma(\lambda) = t^{-1} p(t^{-1}) + o(t^{s-1}), \ t \to +\infty,$$

implies that $\sigma \in I^s$. If s is an integer, the result can be improved to $I^{-s} \sigma \in \mathfrak{w}^0$.

For s=0 and for 0 < s < 1, the theorem is announced by Hardy and Little-wood [1] and by Karamata [2], but no explicit proof is given. We sketch the proof. Let $0 \le s < 1$. A partial integration (justified by the fact that $I^{-1}\sigma \in \omega^0$) gives

$$t^{-1}\int_0^\infty (\lambda/t)^s (1+\lambda/t)^{-2} (\sigma(\lambda)/\lambda^s) d\lambda = o(1) + K,$$
 (2)

where the constant K=0 if s>0.

The kernel $g(x) = x^{s}(1+x)^{-2}$ is a Wiener kernel since

$$\int_0^\infty g(t) \cdot t^{ui} dt = \frac{\pi(s+ui)}{\sin \pi(s+ui)} = 0 \quad \text{for } u \text{ real.}$$

If s=0, the theorem follows from a theorem by Karamata [3]. If s>0, $\sigma \in U^s_+$ gives that $\sigma(\lambda)/\lambda^s$ is bounded below (Karamata [2] p. 36). From this combined with (2) we get that $\int_0^t \sigma(\lambda) d\lambda = O(t^{s+1})$ as $t \to +\infty$. Hence

$$\begin{split} (\mu-1)\cdot t\sigma(t) &= \left((\mu t - t) \ \sigma(t) - \int_t^{\mu t} \sigma(\lambda) \ d\lambda \right) + O(t^{s+1}) \\ &= -\int_t^{\mu t} \left(\sigma(\lambda) - \sigma(t) \right) d\lambda + O(t^{s+1}) \leqslant C \cdot \int_t^{\mu t} t^s d\lambda + O(t^{s+1}) = O(t^{s+1}) \end{split}$$

as $\sigma \in U^s_+$. We conclude that $\sigma(t) = O(t^s)$. If $\sigma \in U^s$ and $\sigma(\lambda)/\lambda^s$ is bounded, it is easy to see that $\sigma(\lambda)/\lambda^s \in U^0$. The theorem by Karamata then gives the wanted result.

The case s < 0 is reduced to the case $0 \le s < 1$ in the same way as in Pleijel [4] p. 565. This reduction uses the properties (a) and (c) of the Tauberian classes.

4. The bilateral Tauberian theorem

Suppose that (1) holds along the imaginary halfrays. In the same way as in [4] it follows that

$$\int_0^\infty (\lambda + t)^{-1} dA(\sqrt{\lambda}) = t^{-1} p_1(t^{-1}) + o(t^{s/2 - 1}), \tag{3}$$

$$\int_{0}^{\infty} (\lambda + t)^{-1} \sqrt{\lambda} \, dS(\sqrt{\lambda}) = t^{-1} p_{2}(t^{-1}) + o(t^{(s+1)/2-1}), \tag{4}$$

when $t\rightarrow \infty$ along the positive real axis. In these formulas p_1 and p_2 are real polynomials and

$$S(\lambda) = \sigma(\lambda) + \sigma(-\lambda), \tag{5}$$

$$A(\lambda) = \sigma(\lambda) - \sigma(-\lambda). \tag{6}$$

We replace the Tauberian condition in the theorem in section 1 by the condition $\sigma(\lambda) \in U^s$, $\sigma(-\lambda) \in U^s$. From this follows that either $S(\lambda)$ or $A(\lambda) \in U^s$. Suppose that S, say, belongs to U^s . Then $IS(\lambda) \in U^{s+1}$ by the proposition (a), and $IS(\sqrt{\lambda}) \in U^{\frac{1}{2}(s+1)}$ by (b). The unilateral theorem now can be applied to (4). This gives $IS(\sqrt{\lambda}) \in I^{\frac{1}{2}(s+1)}$ which is the same as $S(\lambda) \in I^s$, and by (d) it follows that $S(\lambda) \in U^s_0$.

From (5) and (6) follows that $A(\lambda) = 2\sigma(\lambda) - S(\lambda)$, where $2\sigma(\lambda) \in U^s$ and $-S(\lambda) \in U^s$. This implies that $A(\lambda) \in U^s$ and $A(\sqrt{\lambda}) \in U^{s/2}$. From (3) we obtain, using the unilateral theorem, that $A(\lambda) \in I^s$, and when s is an even integer, $I^{-s}A \in \omega^0$.

The case in which $A(\lambda) \in U^s$ follows from the original Tauberian conditions is treated in a completely analogous way, starting from (2) instead of from (3). We have the following bilateral Tauberian and Abelian theorem.

Theorem. Let s < 1 and $\sigma(\lambda)$, $\sigma(-\lambda) \in U^s$. Then the following conditions are equivalent

- 1. The relation (1) is valid along one pair of non-real halfrays from the origin separated by the imaginary axis.
- 2. The relation (1) is valid along all non-real halfrays from the origin.
- 3. $\sigma(\lambda)$ and $\sigma(-\lambda) \in I^s$, and $I^{-s}(\sigma(\lambda) (-1)^s \sigma(\lambda)) \in \omega^0$ if s is an integer.

We have proved the Tauberian part, $2. \Rightarrow 1. \Rightarrow 3$. The Abelian part, $3. \Rightarrow 2$., is the Abelian theorem in Pleijel [4] p. 568.

REFERENCES

- HARDY, G. H., and LITTLEWOOD, J. E., Notes on the theory of series (XI). On Tauberian theorems. Proceedings of the London Mathematical Society, Series 2, vol. 30, part 1, 23-37 (1930).
- KARAMATA, J., Neuer Beweis und Verallgemeinerung der Tauberschen Sätze, welche die Laplacesche und Stieltjessche Transformation betreffen. Journal für die reine und angewandte Mathematik, Band 164, Heft 1, 27-39 (1931).
 KARAMATA, J., Bemerkungen zur Note: Über einige Inversionssätze der Limitierungsver-
- fahren. Publications Mathématiques de l'Université de Belgrade, Tome IV, 181–184 (1935).
- 4. PLEIJEL, Å., A bilateral Tauberian theorem. Arkiv för Matematik, 4, 561-571 (1962).
- PLEIJEL, Å., Remark to my previous paper on a bilateral Tauberian theorem. Arkiv för Matematik, 4, 573-574 (1962).

Tryckt den 9 juni 1964